Friday Maths
Friday Activity:  Counting in Powers of 10 and Ordering

When answering the questions, please use key maths vocabulary:
	place value
	column
	addition
	subtraction

	tens
	hundreds
	thousands
	ten thousands

	hundred thousand
	negative numbers
	positive numbers
	sequence



1)  Copy and complete the sequence and rule:
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2) Spot the mistakes in each sequence, then write each sequence correctly.
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3) Is Amir correct?  Explain how you know.
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4)  Who has made a mistake?  Explain how you know.
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5)  Put the numbers in order of size:
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6)  Copy the number line and estimate the values of A, B and C:
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7)  Read the table below.  Copy and complete the statements:
 [image: ]

8)  What could the number be?  List the possibilities.
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9)  Which card did each child have?
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Estimate the values of A, Band C.
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. Here is a table showing the population in areas of Yorkshir

e.
Halifax 88134
Brighouse 32,360
Leeds 720492
Huddersfield 146234
Wakefield 76886
Bradford 531200

Use <,> or = to make the statements correct.
The population of Halifax O the population of Wakefield.

Double the population of Brighouse O the population of Halifax
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The missing number is an odd number.

When rounded to the nearest 10,000 it
is 440000

The sum of the digits is 23

475,000 ? 407500

Greatest Smallest
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Here are four number cards.

Four children take one each and say a
clue.

My number is 57000 when o)
rounded to the nearest 100
Mo
@ My number has exactly three
Rosie hundreds init
My number is 43,000 when a
rounded to the nearest thousand Jack
My number is exactly 100 less
(hen 57063
Dora




image1.png
The rule for the sequence is
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* 7875, 8875, 9875, 11875, 12,875, 13875, ...

+ 864,664, 764,664, 664,664, 554664, 444664, ...
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Amir writes the first five numbers of a
sequence.

They are
3666, 4666, 5666, 6666, 7666

Amir

The 10" term will be
15,322 because | will
double the 5 term.





